Year 5 Homework, Summer Term Week 9
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23.44 x 100 =
1234.2 - 334.6 =

. What is 1324 ml in litres? (Remember there

are 1000ml in a litre.)

What is 20% of 600? (Remember find 10%

first.)

. 5543 x 44 =

Maths: Speedy Six
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0.0032 x 1000 =
19272.77 - 3204.44 =
What is 234ml in litres?
What 654g in kg?
What is 55% of 620?
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equivalent to 0.1?

What is the fraction equivalent to 0.5?

What is the fraction and percentage
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Quick Comprehension: Complete the sheet ‘Clean Air Drive’. Children should allow themselves one

minute to read the text, and five/ten minutes to answer the questions. Some of the questions are quite
tricky, so don’t worry if you have to talk them through with an adult.

/ . \ Optional Maths Extension:
SQel llngS One bonus house point available
Core Support

va riety memberghip These two shapes have the same perimetar.
varied | partnership
variation | childhood regular hexagon square
variable | motherhood
replying gran
replied wind
. . Mot actual size
replicate king
replica must
. . Thig H’."l"lgtl'l of @ach sicde of the ha:agnn 15 & cantimetras
physical wish
individual plants Calcutato the area of tho squers.

\_

J

Homework is due in on 8th July
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